EARAZROREIERT — 2 N—XBISY —F 201511118 (k) 15[EIF95I5H

2R BN i s VY [xwlm [ memml - |y @ oo pa
[A&4£] 17 :400,000  ~ 23#%&:80,000"  33:60,000H .~ 437 :40,000 ™ .~ 5 7 :20,000
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S BN :01. — . — NHFE (eiEHE)
1 6| YT 42 an 1((&)3 2-2 36.5 2 ;1_744) %EEET;‘;% Bl
LRI T =MV T =~ BiRFhRYHAIF HRSH EHHS
TN 4 2 | BEXT 1:01.3 1-1 37.0 — 1 492 | BHEE] (biEE)
2 o | 7AE Y — 55.0 (7E) @ty | B I7> F'Ei%
LHIRT1TI2 B:TVEHT—X 752 Kiks
_ A+ R4 . - — FZREEX (tiEE
slzl7|vams 552 # 2 | BAREH 2 e Yo |ERES
w4277 B:xPao0-X =Rk et
R o to Be &R EE : — — KNG (tmE)
4|55 |V RIRK o2 i 1.82).4 6-6 37.1 7 (45:) A #E
L:N—HINK B:TE KT 7 — L
. 42 | B3Rt 1:02.5 4-3 37.4| — 3 430 | BEEERL (L&)
5 3| 7Va-Tn 54.0 (3/4) 4) | B =S VI
L:Faoo40 Bie1T1TZ [/ S e ]
S \HRIEE : = — RERFIRI (AbimE)
6 4| 2Y JINFIF 2 34.0 (11.012/.28) 8-6 37.2 10 tg)z s fi !
x4 agbLyy B:44ITXl) =
7189 ZAPI>T LA o2 gﬁ?g}“ﬂ 1(;{? 9-9 371 | — 8 (4_422)
R:V—vI>TLh B:vv />
;= - RS : g =
slgliol 75v777=— i 2 o 1.(023).2 7-8 37.8 5 %2
R:TF—T4FAF =Y B:oNINH—Ta
= s 2 | AlE 1:03.3 2-3 38.5| — 6 418 | Kllfite (dtimsE)
9/1]1|¥77T 54.0 (3/4) (o) |MEEEA .
R:F4—TZHA BT TET b ISHISHT 7 — LI
o © BRERS 2 :03. - . - NEEXN (AtimE)
ool 2—nkxrsz # 2 | BE g || o | | NBEA G
RVWINYT— BITTIY e =
® 1—F—@EBIERL
13—7-—
2a=5"=
== 2,(1,6),(3,7),5,10,4,9,8
43—+ — 2,6,(1,3,7),(4,5),10,9,8
[ /N
B 6 510 714K 2-6 160 B 2-6 360 JEE 2-6-7 1,050
B B 6 1004 6-7 950M B & 2-6 330M JEE 6-2-7 7,430
2 140 2-7 370M B E 6-2 1,380M
7 200

ABICOVWTRDTEEERROODE. TR LIV,



